GENERAL SCIENCE IMP QUESTION / SAMPLE PAPER - 31

241.Which of the following statements regarding sound waves is not correct? /&dfel T o TaET H
farafafaa # & =i a1 sy agr A8 &2

(a) It travels at a speed of 330-350m/s. /IE 330-350 He/AHs ST 1T F AT FRAT B |

(b) These are mechanical waves. /3 AT 3T & |

(¢) They do not require any type of medium to travel. /3e¢ JTAT Fal oh Tl T ThaT i ThR o ATEIH Hr
HTGRIhT A6 Blcl! & |

(d) It cannot travel long distances. /dg ECl @' P ITAT AGT I FhdT|

e Soundwave-
e [t travels in the form of longitudinal waves.
It requires a medium (solid, liquid and gas) for propagation.

It travels through air with a speed of 332 m/s at 0%c

242. An ideal gas at a temperature of 27°C is heated at a constant pressure until the volume of this gas
doubles. The final temperature of the gas will be:

27°C & TIHTS 9 Teh 37T 314 ohY TN el IR T eh 31 TohdT STl § ST cieh feh S 31 ar
3T ST of BT ST | 3137 T T ATTATA g

(a) 54°C

(b) 327°C

(c) 108°C

(d) 654°C

Ans. (b): T, " 27°C =273 + 27 = 300K

-

V,=VandV,=2V

V., V,
At fixed pressure, Ve T | I—‘ = l—
| 2
Vv, .. 2V
T, =—=xT, =—x300= 600K
-V, Vv

T, =600 -273 =327°C

243. A hot body emulates Newton's Law of Coolness. What will be the body's temperature and time
diagram? /T 3197 IR 7o & AT & A T 31THT0T FAT | TR T ATTHTT T FHI IR

FIT R
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According to Newton's Law of Cooling the body's temperature and time diagram is shown in option (d).
Cooling of any body or substance in the atmosphere is based on Newton's Cooling Law.
Q = hA(Ts—T-) Watt
Where,
e Q= heat flowing from hot object to cold object in 'Watt'.
e As=area from which heat flows (m2)
e Te=surface temperature of the object
o T, =temperature of the medium (atmospheric fluid)
e h=convective heat coefficient (W/m2k)

244. Vitamin K is produced through bacteria naturally found in:/faeTfAsT K &1 3cares ch@f?lch M H
91T STl aTel SSFeIRAT o ATEIH & il g

(a) Pancreas
(b) Kidney
(c) Heart
(d) Intestine
e Vitamin K is produced through bacteria, naturally found in intestine.

o eI K SFERAT & ATETH T 3cUooT 81T &, S TaTdTfaeh 9 & 317d & 91T S1am g

245. A sound wave has a frequency of 3.5 kHz and its wavelength is 0.1 m. So how much time required

to cover a distance of 700 meters? /Teh €aTeT LT T 31'@% 3.5kHz® 3?\?3?@ JETEEFT 0.1 melar

700 HYeX i gt T el H fehclell FHT R

(a) 1.5 seconds
(b) 1 second

(c) 3.0 seconds
(d) 2.0 seconds

n=3.5kHz

n=3500 Hz

A =0.1 meter

v=nA=3500 x 0.1 =350 m/sec
We know that,

Distance = Speed x Time
Time = Distance/ Speed
=700/350 =2 sec.
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246. Find the similarity in the following:/ [RFTI@d H FAHTT @i

Common cold, Ringworm, Conjunctivitis, Whooping cough : / ATHT '\':Ia', ala, WWQIT?‘T, Froir
Grar

(a) These are all non-communicable diseases. / g et IR Tl qer %Y'I

(b) They do not respond to curative treatment. / 3 39ARIcHS 3UAR Hl A Tal odl

(c) These are all contagious./ I T T HF §.

(d) No preventive measures are available for all of them. / 3T T & fow aflé' faRes 3urT
39eeY Al &

247. Which of the following classifications was based on atomic masses? /feleATol QT & & Pl AT
FITTeRYOT TRATY] Geg AT TR TR A

(a) Dobereiner, Newlands and Moseley
(b) Dobereiner, Mendeleev and Moseley
(c) Dobereiner, Newlands and Mendeleev
(d) Mendeleev, Newlands and Moseley
e Dobereiner, Newlands and Mendeleev groupsified elements based on atomic masses. John
Dobreiner divided the elements into groups of three on the basis of their properties.
e These groups are called triacs.
e According to this, the average mass of atomic masses of the elements in the group obtained by
decorating the elements of a triplet in the order of their atomic masses is equal to the atomic mass
of the middle element.

o SIS, 7PigH 3N HASTIT o IATU] SeT AT & TR TR dAcal T HHLIHOT fehaT| Siiet
SIsIel} & clcdl I 3eTeh 0T o MR TR T Faggl & faenfara fana)

o S THG! PN 3 HET AT B

o 3Th HJAR ek & dcdl T 3eTeh WHTU] G AT o hel H Folld & UTCT HHE o cledl
ULATY] GeT AT T I SeTHTe ALY ded & TATY] GedAT & RIS Bl g |

248. Which of the following resembles the 10th element in Newland's periodic classification?

fAFATTET 7 & et =gels o 3Taftreh qaiientor 10 ced & THTT Sofel &2

(a) Third

(b) Ninth

(c) Fourth

(d) First

e  British chemist John Alexander Newland developed the octave rule in the year 1865.

e He arranged the elements in order of their increasing atomic weight and found that starting from
any element, the 8th element had the same properties as the first element.

e This relationship was the same as the 8th musical vowel relationship with the first musical vowel.

e Thatis, the 10th element in the periodic table will show the same quality with the third element.

o fSfeer T SileT 3roieoist #gels o a¥ 1865 H 3rsceh A fasfad T
o 3ogiel cedl @ 3eTeh S WAT] HR & HTER Faiyd o 3R aran f& fordr off e
¥ YE Hh 84 ded H Ugal ded & FHAE 0T U
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o IUE TEY 3Sd TN TR T Tgel TN TAX & AT TSE oI AT & ATl
o N HET RO F 10d7 Ted AR ded & AT FAT I[oradm G@mea|

249. Which vitamin activates proteins and calcium essential for blood clotting? FiT a1 fFerfda &
& Uk STHA & flT 3maedes didd AR Sfowad o afshd aar g2

(a) Vitamin K
(b) Vitamin B1
(c) Vitamin D
(d) Vitamin C

Ans. (a) : Vitamin-K is soluble in fats and helps in clotting of blood. The chemical name of vitamin-
K is Phylloquinone. Deficiency of vitamin K-

* prevents clotting of blood

* causing pain in bones

* affects digestive system

Vitamins Scientific Name Deficiency
Vitamin D Calciferol Rickets and osteomalacia
Vitamin C Ascorbic acid Scurvy
Vitamin B, Thiamine Beri-beri

¢ Only four of the vitamins A, D, E, K are Fat soluble.
e Other 9 Vitamins are water soluble.

250. Which one of the following is not true about Kepler's rules for planetary bodies? /I8 fUsi & forw
Sroer & Yt ¥ Ay PR fad # A T a8

(a) The orbit of a planet is an elliptical with the Sun at one of the two foci. /&Y I T & &l ATTFAT 7
U Teh WG & A HUSHN Bl o

(b) A line segment connecting a planet and the sun makes an equal area outside during equal intervals of

time. /foRET g 3R FA T S5 AT IWT WS FAY & THTA 3HcRTel o QR J1L Teh HATeT &1F FaATcTl
J

(c) The square of its orbital period is proportional to the cube of the semi-principal axis of its orbit. /ST
hefrr 31afer ohT a7 SEehT haTT o 3TET-TaE 3787 oh Tl & FHTFUTH BT ¢ |

(d) The orbital period depends on the mass of the planet./F&TT AT TG & GeIATH T R gl

e Kepler's 1st law, all the planets revolve around the sun in elliptical orbits having the sun at one
of the foci.

o TR & YU A & ITER, Tl 78 I o °RT 3R 3USThR FaT3i & gaa 8, Sad gd
Teh she; Tg W g

e Kepler's 2nd law, states that the areal velocity of a planet revolving around the sun in elliptical
orbit remains constant which implies the angular momentum of a planet remains constant.
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o TR I GEIT fiTHA TATT § 7o TUSTERR hall H FF o TR 3T gHeA aTel IE ol &1 AT
&R Tgar & forge 37 § 6 o8 &1 a1ofir gaer R I|ar g

e Kepler's 3rd law, the square of the time period of revolution of a planet around the sun in an
elliptical orbit is directly proportion.

o hToR T AT T4, fonell 718 hr FF & TRT 31 3USTRR &HaTT 7 TReAHUT hl HHATATE hi

9 e JTegaTieh B &
T? o« a’
251. Palaeontology deals with the study of .......... / Palaeontology ......... F TS § FEfd %’I
(a) Bones /BS%'!T57

(b) Fossils /STIaTe#
(c) Rigid cells /FBR ITRAHIT
(d) Wings /99

e Paleontology is the study of the history of life on Earth as based on fossils.
e Fossils are the remains of plants, animals, fungi, bacteria, and single-celled living things that have
been replaced by rock material or impressions of organisms preserved in rock.

o Shae# faTet ShareAt o e gl 9T Sitae & Sfagrd & 3reage g
o SATH Ui, STTaRT, Hhdeh, SFEIRAT HR Tehel-hI AT dTel SHTAd dTSll o AUV & Tolee
T ATHAY AT Aceld H Efard Sfial & ot ganrt gfaeaiad frar s g

252. How long will it take to reach its highest point, if a ball is punched upwards with an initial velocity
of 25 m/s. [ g =10 m /s2].

I Teh 7€ T 25 FCYAHS & TRTHb 39T { FUT T 3N FHereh! ART ST &, T SU 391 STaad g
Fﬁqguﬁ #H ThdaT IHT P

[g =10 #F/A2]I
(a) 10 seconds
(b) 2.5 seconds
(c) 50 seconds
(d) 5 seconds
Initial velocity (u) =25 m/s
g =10 m/s’
Final velocity (v) = 0 m/s
From, v=u-gt
0=25-gt
-25=—gt
gt=25
25
I = —
10
= 2.5 seconds
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253. If a person has difficulty in seeing distant objects clearly, what condition him suffering from and

how can it is conected?ﬂ%m@%ﬁgaﬁd{-gldﬁﬁ+quc T ¥ WA H HfSTS T &, AT a8
fore feufa & Aifsa & 3k 38 8 St fovar s asvarT &2

(a) Myopia, using convex lens/faiere TS, 3deT oI F HT ITATIT FIAT

(b) Myopia, using concave lens/faiehe TTRC, 3Tadel ofd I 3UITT HIaAT

(c) Hypermetropia, using convex lens /qu?ﬁ@ﬁ?:ﬂ, 39 ol I 39T AT
(d) Hypermetropia, using concave Iens/ﬂ??'qm@ﬁm, 37ade of" I 39T AT

e Farsightedness, also known as hyperopia, is a condition of the eye in which light is focused
behind, instead of on, the retina.

e The person affected by hypermetropia cannot see nearby objects distinctly but can see distant
objects clearly.

o IGRIAT, TS BISURITIAT 811 gl STl &, 3178 <l Ueh VAT AT & Toraed eprer et X
RIS o IS HFRT A

o BIEATIAT { THITAT cafare Ure T aEcI3il 1 FUSC &9 U 7ET G@ Fhell § olfehet g
TET3 T TISC T Y & T ¢ |

e Hypermetropia (hyperopia) also known as farsightedness is a common type of refractive error
where distant objects may be seen more clearly than objects that are near. Therefore convex lens
is used to treat it.

o BISTRACIIAT (BTSTRITIAT) Tordt SXGRIAT & & 3 #11 ST ST §, Teh HIHAT TehX hl
3adcieh 3 & ST8T G T TEIHT T I hT a&31T T Jefoll F 37Tk FUsC & F @ o7
HhdT &1 ST 3T STl S TIT el oI T 3YIT fhIT STAT & |

Hypermetropia o Y

A 4

-
L4

> —d

e e

Correction: Convex lens
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254, Plants with well differentiated reproductive tissues, which eventually form seeds, are called:/3T<e5T
RE & faafea goretsl St arel 9ie), St 3dd: @97 doId &, Fgelld ¢

(a) Thallophyta /&eTwTSeT
(b) Pteridophyta/SRETHISeT
(c) Phanerogam /SheR13TeT
(d) Cryptogam/fereerdiae

e Plants with well-differentiated reproductive tissues that ultimately make seeds are called
Pteridophytes.
e Gymnosperms are the first plants to have well-differentiated reproductive tissue.

o 3O TRE A AT TsTeled Fchl aTel MY Y 37 fieT 711 &, TREPIscT Fgarad
o ToEIETs gga oie § foeet 3eed aRe @ AR gotetet Sas gla &

255. Match the following in the correct order:/faie=T eI I TLY vl H ﬁﬁﬁlﬁ F:
Hormone /Eﬂﬁ?l'

(P) Hormones of Colip/&ifelT & grHfeT

(Q) Aldosterone/TeaIEeNT
(R) Prolactin/vTolfFesT
(S) Melatonin /AeTeIfeleT

(a) P-a, Q-b, R-c, S-d

(b) P-b, Q-d, R-c, S-a

(¢) P-c, Q-a, R-d, S-b

(d) P-d, Q-c, R-b, S-a

Secretory gland/@Td} #AfY
a. Adrenal gland /Tf3sTer oI
b. Pineal gland /ffaaer aIfYy
c. Parathyroid gIand/ﬂTrng??T\ll'g'fs' DIE)
d. Pituitary gland/ﬂ'{q’ I

256. Which of the following substances has the highest resistivity? [Arfaf@d & & g gerer fr
GiaRItrehar e 38 g?
(a) Ebonite /TSIIEE

(b) copper /dTaT

(c) Nichrome /AATSshIA

(d) Glass/delTH

e Material Resistivity (Q2-m)

O

O
O
O

Ebonite 10'°-10"
Silver 1.59x10°®
Copper 1.68x107*
Nichrome 1.10x10°°
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257. Notice the P4O10+_ H>O —  H3PO4 equation. Essential particles of water in this reaction........
Will be

P,Op+ _H,O — H;PO, THIHIUT TR €T ¢ | 3T ATRTHAT H STeT & 3TaLTh H0T........ glar

(a) 2
(b) 6
(c)8
(d) 4
P4O10 + 6H,O — 4H3PO,

The required particles of water in this reaction will be 6.

S MATHAT & ST & TS HT 6 T

258, i is not a human bone joint./.................. HlAT E‘s’[spl' FT g o‘-@' %’I
(a) Ball and socket /ater 3R @ldhe

(b) Gliding /8IehaT

(c) Macro /&gl

(d) Saddle/&ser

e There are six such classifications: hinge (elbow), saddle (carpometacarpal joint), planar
(acromioclavicular joint), pivot (atlantoaxial joint), condyloid (metacarpophalangeal joint), and
ball and socket (hip joint).

o U BF qINHIT §: ISl (FIgalT), HSel (FTATACTRIIA S115), Tolak (ThTAGIFATIHor 5iTs),
g{l (T3 FaT 3A13), Hifesellss (AeTHithizorde si1s), 3 afer 3R Hishe (Fes
S|

259. What is the pressure inside the aircraft cabin at altitude?

Fa8 W TAATT & el & eI ga1ad fohdall gIaT &2

(a) Is similar to outside /STgT & THTT &

(b) Less than outside/dTgT & HH

(c) More than outside /aTgY & 31T

(d) Normal the pressure at sea IeveI/Q:I?fIDE\' dd W gaId A1AT ¢

e The air pressure in all aircraft cabin is kept higher than the atmospheric pressure at high altitudes
to avoid discomfort to passenger due to low air pressure outside the aircraft.

o TIHT & 91gT A &aT & Td & HROT AT T IGAUT § T2 & forw @it faamm= HigaT &
§aT T GalTd 3od Fa1$ R AHSNY gaTd § 3fereh 11 STdm g

260. From the equation of ideal gas 4 grams of an ideal gas attains a volume of magnitude of 5.6m3at
54.6K and 2 atomospheric pressures. What will be its molecular weight?
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3MeRY I & FHIRIUT § 4 AH G AF 54.6K 3N 2 WA E&1E W 5.6m3 & TRATOT Y

HAMET 9Tcd Xl &l SHPT AT0Ideh AR FIT Iam?
(a) 32

(b) 16

(c) 64

(d)4

) From the equation of ideal gas
PV =nRT

Lo PV _ 2x56
RT 0.82x54.6
W 2x560
m 82x546
4x82x54.6
m=
2% 560
=16

=159




